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@ 19928 @ 336+14 @ 224+7

@®)42.3 + 18 ® 852+6
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A2 ok £ Ao 0°0] A& = A= ABZbste] ALbet
=4

@ 19.92 + 8 =249

@336+14=24

®2.24+7=0.32

@ 42.3+18 =235
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®852+6=1.42




D 4.32+6=0.72
@ 595+7=0.85
®496+4=1.24
@ 1.71+3 =057
® 5.28 + 8 = 0.66
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@ 484 =8 (5)2.86 =7
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@ 15.61 -7 =223
2
@25=2+2+9=2+0.22...:2.22~~

@ 55.35 5 =11.07
@ 48.4+8 = 6.05
® 2.86 +7 = 0.408 - - -




@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?




@ 56000000 g = 56t

@ 380000g 4 0.063t = 443 kg
(@)3.5t +820kg = 1170 kg

@ 0.7t -2 70g ] 10000 Hio]T},

® 380kg + 4200 g = 380.42kg

1t = 1000kg = 1000000 g
® 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg




7.

O 5 244 ot 0= WHshs Alttel §le A2 o= A

® 404+5

@ 67.1+22

®)475+5

3 464+ 32




11 9 17
D 1.7 ®) 1E ® 1625 @ 1E %
4
1= = 1§ =18
5 10
D 1.7
11
1— =1.
@ = 6875
3 1.625
9
1— =19
® 10
17
1— =1.85
® 20

1501 1 AP Sk 1o Y,




i)
mlo
olN
HY)
0
r
)
e
)
o
i
o
)
Py
flo
29
Ir
sl
rO
B
k!
I
>~
to

@ 240a =2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @3140 a=3.14ha

® 3500000 m? = 3.5km?

@ 3140a = 31.4ha




10. & 5 Holo &9 A5 vt A2 ol AQIA] AEAL
@ 4a=400m? @ 2000a = 20 ha
® 6km? = 6000000 m? @3500000 a = 35km?

® 780000m? = 78 ha

@ 1km? = 10000a °|E&2
3500000 a = (3500000 + 10000) km? = 350 km? ¥ c}.
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42000( ) =420( ) =42ha

® m?, cm? @ km?, a @ m?, a

@ ha, m? ® ha, a

1ha = 100a = 10000 m?
b Ag2 2AHE m?, a9l




3700000( ) =370( )= 3.7km?

® m?, cm? @ m?, a @mQ, ha

1km? = 100 ha = 10000 a = 1000000 m?
et AL AU E m?, ha 91 @¥o]
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PYAPAF Y Yol 2 FF ekl 212 o] 21Y

@D 480000 m?2 @) 4.8 km?2
® 4800a @ 48ha

® 4800000000 cm?

(BB ] Hel)
= 600 x 800 = 480000( m?)
— 480000 m? = 4800 a = 48 ha = 0.48 km?
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D 12ha @) 1200000 m?
® 0.12km?2 @ 1200a

® 1200000000 cm?

~&B

SR E m? 2 FYoiA vl

@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?

oA, O=0=0 =06 <Q@YYt}.




15. ta F7F |2 A2 ol A A=A,

® 220ha @ 2200000 m?
® 0.22km?2 @220000 a

® 22000000000 cm?

B

SE m? 2 FLaA] B}t

@ 220 ha = 22000 a = 2200000 m?

® 0.12km? = (0.22 x 1000000) m? = 220000 m?
@ 220000 a = 22000000 m?

® 22000000000 cm? = 2200000 m?

T A<D =0=0<@®@HFYrh
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@ QOgcm @ lipcm ©) 105 cm
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@ 1?m @ 3?m ® 7-m
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24. 3, © 2740 B/ Zol7h Be Aol 570 Eﬁl"JEM,@
a7 of A 2o 1717] gk
A7 Qe 42 stel el el 271 9.-;% 2 54 mu:m
0.25 cm7}H ZQLE T &,
o1¢] 0.759] S W, © ) 1-41 7] 1Al 72‘01%‘3‘—; @A 7342,

@ 69cm @ 87cm 3®)116 cm

@ 145cm ® 145.5cm

~&B

@9 &7 g2 # Er: 58.5( cm)
O] A7|A] & HE: 58.5+2-0.25 = 29.25-0.25 = 29( cm)
O HE: © XHH 0.75
O©2 712 2 B2 © AA 9] (1-0.75) = © HA] 0.25
© HAIx0.25 = 29
O AA =29 +0.25
= 116(cm)




G4t gHlol= 0.75kmE EEl= AlE & H 5y A3
2 gjofl= gulo7l J4 Rt 2 % WA EHSI o v As o=
10mFARL, F A4 2 gol= &7o17F 9m P A EWstg] o
E oA 15 mARE Y. 2H0E 9ol = 0.75kmE H 2o E3
AEU7F? (d-&Eoto] A4 A 2pe]7kR] F6HA L))

dD)107.1 = @ 1072 % ® 1073 %

@ 1074 % ® 1075 %

0.75km- _
glo)A F—————

gd ————>10m|=A 73} 2%
A2 I9m—>15m |=A g 2} 14m

1km = 1000m, 1 m = 0.001 km
SRlol7t A& & A 750 - 10 = 740( m)

SRlol7t T 2 A2]: 750 - 9 - 15 = 726(m)

A 2] Zpo] 1 740 — 726 = 14(m)

£, 2% S A7 14molBR 1% 5 EH A= Tm
?.ME}.

£10]7} 0.75(km) & & A7 0.75 + 0.007 = 107.14 - - (
%) = 107.1( %)




